%)
-
Z
m
=
®)
o
=
O
o
oJ
2
wl
m
01}
%)
<
<
-
&







HEEX3L Knobs

NET

N234A e 3
N234A KNOB s
[
mm
I
%S y 8
Code Weight (kg)
N234A-M8 M8 0.09
N234A-M10 M10 0.09

MR EREL. NARENHERIFEN

Material: Reinforced Polyamide, Hexagonal Insert in Nickel Plated Brass or Stainless

Steel
N235A Tk D
N235A KNOB
di
&S D d L H h di Wi;iit
Code (mm) (mm) | (mm) | (mm) | (mm) ka)
N235A-20-M4x15 20 M4 15 13 7 8.5 0.015
N235A-20-M4x20 20 M4 20 13 7 8.5 0.015
N235A-20-M4x25 20 M4 25 13 7 8.5 0.015
N235A-20-M5x15 20 M5 15 13 7 8.5 0.015
N235A-20-M5x20 20 M5 20 13 7 85 0.015
N235A-20-M5x25 20 M5 25 13 7 85 0.015
N235A-30-M5x40 30 M5 40 21 11 17 0.010
N235A-30-M6x16 30 M6 16 21 11 17 0.012
N235A-30-M6x20 30 M6 20 21 1 17 0.015
N235A-30-M8x20 30 M8 20 21 1 17 0.018
N235A-30-M8x30 30 M8 30 21 11 17 0.022
N235A-40-M8x15 40 M8 15 25 15 19.5 0.023
N235A-40-M8x20 40 M8 20 25 15 19.5 0.030
N235A-40-M10x20 40 M10 20 25 15 19.5 0.040
N235A-40-M10x30 40 M10 30 25 15 19.5 0.045
N235A-45-M8x25 45 M8 25 32 19 21 0.047
N235A-45-M10x25 45 M10 25 32 19 21 0.050
N235A-45-M10x30 45 M10 30 32 19 21 0.055

MR HBREL. #iHHRE

Material: Reinforced Polyamide, Insert in Nickel Plated Brass

N234B 1%k
N234B KNOB
1o
b
N
|56
/S o =8
Code Weight (kg)
N234B-M8 M8 0.1
N234B-M10 M10 0.1

MR EREL. NARENRERIFEN

Material: Reinforced Polyamide, Hexagonal Insert in Nickel Plated Brass or Stainless

Steel
N235B heE sk "
N235B KNOB N
-
3 &
- T f \
R
: \J
]
J w0 M @40
/S M 8
Code Weight (kg)
N235B-M10 M10 0.10
N235B-M12 M12 0.1
N235B-M14 M14 0.125
N235B-M16 M16 0.15

MR BRER, REARNERIAAEN
Material: Reinforced Polyamide, Insert in Nickel Plated Carbon Steel, or Stainless Steel

N235C 1% sk
N235C KNOB

P22
/S 8
Code I M Weight (kg)
N235C-M8x15 15 M8 0.05
N235C-M10x15 15 M10 0.05
N235C-M10x25 25 M10 0.05

MR BRER, REANPFERITEN
Material: Reinforced Polyamide, Insert in Nickel Plated Brass or Stainless Steel

www.net-conveyor.com



NET
WELEsL /% sL4H Knobs / Adjustable Heads

N236 He%
N236 kKNOB RS D d H h di B8
Code (mm) (mm) (mm) (mm) | Weight (kg)
5 N236-20-M5 20 M5 13 7 8.5 0.013
<—> N236-30-M5 30 M5 21 1 17 0.014
C:G@\ N236-30-M6 30 M6 21 1 17 0.015
S N236-30-M8 30 M8 21 1 17 0.016
N236-40-M6 40 M6 25 15 195 0018
d N236-40-M8 40 M8 25 15 195 0.020
3 di N236-40-M10 40 M10 25 15 195 0.024
N236-45-M8 45 M8 37 19 21 0.025
N236-45-M10 45 M10 37 19 21 0.025
M. R, REAERE
Material: Reinforced Polyamide, with Brass Insert
N237A 55 A%ELH N237B KA LH

N237A SHORT ADJUSTABLE HEAD WITH KNOB N237B LONG ADJUSTABLE HEAD WITH KNOB

I
[

[

48

o)

36

&S E{RE R H®HS Lz i

Code d (mm) Material Code d (mm) Material
N237A- 12 12 1R R N237B - 12 12 1838 B

B, BUREE. THER B, BURRE . THR
MR 4 Reinforced Polyamide NS ik 1 Reinforced Polyamide
N237A- 16 16 Eyebolt, Screw, Nut and Washer: Stainless Steel N237B - 16 16 Eyebolt, Screw, Nut and Washer: Stainless Steel
N237C TERIFEE LA N237D AEERIEE A

N237C SS ADJUSTABLE HEAD WITH KNOB N237D SS ADJUSTABLE HEAD WITH KNOB

(%2]
(m)]
<
L
=
(1]
|
o
<
'_
n
2
=
(m)]
<
(%)]
[a1]
o
Z
X

o] 1
< 7 |
3] / :
M10 @30
/S Lz R Eie Lz MR
Code d (mm) Material Code d (mm) Material
N237C - 12 12 N237D - 12 12
REN EM
N237C - 14 14 Stainless Steel N237D - 14 14 Stainless Steel
N237C - 16 16 N237D - 16 16

www.net-conveyor.com D33



NET
V@ %3 Heads

N811/812 H &

MR ERER
Material: Reinforced Polyamide

N811/812 HEAD M10
= RS L d
P Code (mm) (mm)
2 N811 - 12 12
= N811 - 14 48 14
M\
N2 N811 - 16 16
- N812 - 12 12
o
< '
0 N812 - 14 65 14
i o
N812 - 16 16
M10 x 30 f 30
36 M. EEER
Material: Reinforced Polyamide
N813/814 BTN &Y
N813/814 HEAD
/‘ ‘\ RS L d
Code (mm) (mm)
/?R\ N813 - 12 12
AN N813- 14 20 14
© N813 - 16 16
< ! T
N814 - 12 12
N814 - 14 40 14
M10
N814 - 16 16
% WE. mBRER
Material: Reinforced Polyamide
N815/816 F4E R+ EHT
N815/816 SS HEAD D
M10 /s D d
> Code (mm) (mm) & =
N815 - 12 12
| N815 - 14 25 14 RIERFERINT
-OI N815 - 16 16 .
According to
N816 - 12 12 customer’s
— requirements.
_ N816 - 14 30 14
N816 - 16 16
0
N MR FEH
Material: Stainless Steel
____________________________________________ T mm e e e e e oo
N817 FEHF B ! N818 FHER K
N817 HEAD : N818 SPACER FOR HEAD
30 1 3J =
M8 1
| = 2
N 1
1 211
© 1
& ! @15
N I
© 1 @226
Nt «© 1
: 230
o 3 ————— : ! @36
i i X MR EERY
1 Material: Reinforced Polyamide
35 1
I
1
1
I

D34 www.net-conveyor.com



NET
f2 T 28 Side Guide Brackets

N238 =37 22
N238 SIDE GUIDE BRACKET

48 64
L
D
A )
VY
L o T
o )
| = ©
2 = |7 i
<
N —— Y
! T
RS O@DE BB 3&.
Code (mm) Weight (kg) = H 3
N238-12 12 0.30 il il
N238-14 14 0.30 i — —
N238-16 16 0.30 © 19’5 323
45 | 83
- gt L
MR HEREREAFENIRLA
Material: Reinforced Polyamide with Stainless Steel Set Screws
N239A = 32
N239A SIDE GUIDE BRACKET
o
w| R ©
N
N| o
&)
RS @DE HE 0
Code () Weight (kg) 3 e
N239A-12 12 0.23 3
N239A-14 14 0.23 ! :
£110,5
N239A-16 16 0.23 : :
127
HR. MEREARFFRELA 40 o0
Material: Reinforced Polyamide with Stainless Steel Set Screws E
________________________________________________________________________________________ X
(@)
N239B %2 =
N239B SIDE GUIDE BRACKET \ 65,5 m
48 49 g
)
w ©)
L
Dl a)
\Y) @ | 2}
S| | 33 *
=)
0| [«
s [T] 5
o -
o]
N[0
=
< v
e @DE 8 ]
Code (mm) Weight (kg) 0 U ‘8
N239B-12 12 0.23
N239B-14 14 0.23 g__ kU
N239B-16 16 0.23 0,5 75 J«
65
M. RN GMIBLA 40

Material: Reinforced Polyamide with Stainless Steel Set Screws

www.net-conveyor.com D35



L2 Side Guide Brackets

NET

N240A P12 3728
N240A SIDE GUIDE BRACKET

/S
Code
N240A-12
N240A-14

@DE S
(mm) Weight (kg)
12 0.20
14 0.20
N240A-16 16 0.20

MR ERERRAENIRLE
Material: Reinforced Polyamide with Stainless Steel Set Screws

N240B P23 48
N240B SIDE GUIDE BRACKET

RS
Code
N240B-12

@DE 8
(mm) Weight (kg)
12 0.20
N240B-14 14 0.20
N240B-16 16 0.20

M. RN AFENRLA
Material: Reinforced Polyamide with Stainless Steel Set Screws

N241A P17 58
N241A SIDE GUIDE BRACKET

H/S @DE BB

Code (mm) Weight (kg)
N241A-12 12 0.36
N241A-14 14 0.36
N241A-16 16 0.36

N241B =28
N241B SIDE GUIDE BRACKET

()
)
m
0)
c
g
m
W
P
>
@)
P
m
—
%)

MR HERERRAFENIRLE
Material: Reinforced Polyamide with Stainless Steel Set Screws

RS @DE ES

Code (mm) Weight (kg)
N241B-12 12 0.36
N241B-14 14 0.36
N241B-16 16 0.36

MR ERERRAFENIRLE
Material: Reinforced Polyamide with Stainless Steel Set Screws

3
‘ 3
[ NIA
Ml
1]
LT
g5 Hih
| 38
48
35
3

DE

202
N

|

|

/

3{ 31
75

31

202

1

3 31
75

31

105

www.net-conveyor.com

247




NET
EE5MIPE=L 22 SS Side Guide Brackets

N257 REERIPIEZ LR
N257 SS SIDE GUIDE BRACKET

@50 58
—_—
%% s
: 43
[sums] 3 ®
()
10.4 -
N
an
|
|
%S ODE 3 i o
Code (mm) Weight (kg) : S~
N257-12 12 0.44 Q:;
N257-14 14 0.4 ¥ 4
N257-16 16 0.44 35 73
MR TEHEW
Material: Stainless Steel
N258 REENIF =T 42
N258 SS SIDE GUIDE BRACKET
@50 72
(7p]
S & i
i 57 (@)
[sams " <
v
~ om
10.4 = ]
N =)
IR 3
(|
o
R®S @DE 82 ~ ()]
Code (mm) Weight (kg) g o
N258-12 12 0.52
N258-14 14 0.52
N
N258-16 16 0.52 H Y
MR FHH 38 87

Material: Stainless Steel

www.net-conveyor.com D37



NET
555N / %88l Z2 SS/Plastic Side Brackets

N291 REFRZ LR 53 OA:16/20mm
N291 SS SIDE GUIDE BRACKET i

8,,
3
8,,
R THER T
Material: Stainless Steel
N292 R4FR 48
N292 SS SIDE GUIDE BRACKET
Code (mm) (mm)
HIR. AHH N252A 25 483
Material: Stainless Steel
N252B 25 50.8
N252C 76.2 50.8
N259 1112 37 28R
N259 SPACER FOR BRACKET n 19.05
- ] 15 15
| | e
- B HH>'<
E— —
2
o
m RS L L1 h h1 BB
w Code (mm) (mm) (mm) (mm) Weight (kg)
g N259A 80 51 42 10.2 0.035
9 N259B 107 81 48 10.2 0.048
m B EEER
a N259C 115 87 48 10.2 0.051 Material: Reinforced Polyamide
N260 %1352 N261 ¥ %2
N260 SIDE BRACKET N261 SIDE BRACKET

Z 8.5
- 17 96
:F 5 © . 65
e 6 o
23 o)
o
ol ©
3| <
3 —
N 8 =
<
b @
0 (&}
—— 14 ] |
40

MR ERER
Material: Reinforced Polyamide

D38 www.net-conveyor.com

MR ERER
Material: Reinforced Polyamide




NET
TENRFZIR SS Brackets

L BISER I 2 » w30
L TYPE SS BRACKET > <—>*—’
— / i i i i
™
E 777777777 |
RS R~F B8 3
Code Size (mm) Weight(kg) | | || W || = +_ 3
N
N801A 70*70*40 0.149 T
111 15
MR TEN >
Material: Stainless Steel 40 70
LB IR L 5 11 10, 28 . 30
L TYPE SS BRACKET WITH HOOK — :
an oy
©
= R~F B8 3
Code Size (mm) Weight (kg) B
N
N801B 70*70%40 0.150 - ]
15 |
M. THER ‘_"
Material: Stainless Steel 70
L BIRE MR 58
L TYPE SS BRACKET 30 26 50
EREE P
R
= R~ 2
Code Size (mm) Weight (kg)
N802A 140*70*40 0.230
R THEN <—> > 140
Material: Stainless Steel 40
LB RN 3R
L TYPE SS BRACKET WITH HOOK 10, 28 30 26 50
SR ST
(7p]
ﬁi —
<) b h L
HS R~ R R o =
Code Size (mm) Weight (kg) @ | &(
N802B 140*70*40 0.233 ﬁi | (fg
HE. FHE ALV @
Material: Stainless Steel e 140
40
L BIRE MR 3R 27 38 12, 38
L TYPE SS BRACKET 11»
16,
91 7z frz !
| [V W | jin
He R £E N
Code Size (mm) Weight (kg) 3 ©
N802C 120*70*40 0.203 NI oF H
e ® n - 15
Material: Stainless Steel 40 120

www.net-conveyor.com D39



NET
NN 2R %2 SS Brackets Articulated Group

THEMREZRFAESR
SS BRACKET ARTICULATED GROUP
.
RS L H B8
Code (mm) (mm) Weight (kg)
N803A1 43.3 245 0.43 I
N803A2 75 60 0.59

R THEN

Material: Stainless Steel

MR RFER
SS BRACKET ARTICULATED GROUP
&S L H E3
Code (mm) (mm) Weight (kg)
N803B1 433 245 0.44
N803B2 75 60 0.60

MR REHN
Material: Stainless Steel

TERRGZZIEER
SS BRACKET ARTICULATED GROUP
RS L H BE
Code (mm) (mm) Weight (kg)
N804A1 43.3 245 0.54
N804A2 75 60 0.70

MR FAEN

Material: Stainless Steel

AEMEZRAEAR
SS BRACKET ARTICULATED GROUP
(%) B”s L H HE
g Code (mm) (mm) Weight (kg)
§ N804B1 43.3 245 0.55
0
E N804B2 75 60 0.71
wn

B TEN

Material: Stainless Steel

REEMRIE TR 0
SS BRACKET ARTICULATED GROUP
8
RS L H B8
Code (mm) (mm) Weight (kg)
N805A1 43.3 245 0.52
N805A2 75 60 0.68

MR FEN

Material: Stainless Steel

D40 www.net-conveyor.com



Mi21g5isk Side Mounting Top Brackets

NET

N242 (A 55k

N242 SIDE MOUNTING TOP BRACKET

BS @DF £
Code (mm) Weight (kg)
N242-48.3 48.3 0.32
N242-50.9 50.9 0.32
MR EREREAFENIRLA
Material: Reinforced Polyamide with Stainless Steel Set Screws
N243 i ik
N243 SIDE MOUNTING TOP BRACKET
0
*
R/S @DF E3
Code (mm) Weight (kg)
N243-48.3 48.3 0.56
N243-60.3 60.3 0.56

MR EREREAFENIRELE
Material: Reinforced Polyamide with Stainless Steel Set Screws

N244 ZEMB K

N244 SIDE MOUNTING TOP BRACKET

82
N
0
0| e
=
{F 777777
ODF
. 46
RS @DF B8
Code (mm) Weight (kg)
N244-48.3 48.3 0.42

MR EREREAFENIELE
Material: Reinforced Polyamide with Stainless Steel Set Screws

MR HERELRAFENBLE

Material: Reinforced Polyamide with Stainless Steel Set Screws

e :
i M I RE
pt R S @ 363*
© 8 * ig
NS 8 @) g
= )
| 0
IRINIE
M8 T S
R
&l |
11 i
23
77
205 78
~ 24
2 L 105
© |
o ol == ==y 3
w| ® A -
© T |\
<l N =
® D@QQ
LS
D(bqg g
| Q
AR
M10 | 8
:[ \
54‘ T { """ *E
16.5 . oDF ‘ E
91.5 ” 5
<
o0
m
| o
o
X N245 fUliB$isk =
: N245 SIDE MOUNTING TOP BRACKET %
' B
| 10 =
G e, | o~y [T ™ s
! w
X o
: g8 n
! 0
| ]
| L _1
! 40
: 262 70
] 84
! 98
1
1
: Re ODF a8
| Code (mm) Weight (kg)
1
: N245-48.3 48.3 0.34
1
1
1
1
1

www.net-conveyor.com



NET
AEERMMBHisk SS Side Mounting Top Brackets

N262 REERMIA ik

N262 SS SIDE MOUNTING TOP BRACKET \
\ i B —————
I~

2-09
162

8
< e
©
S 50
7
e @DF nE 7
Code (mm) Weight (kg) ‘
N262-50.8 50.8 0.33

57

MR FEMECIERERE
Material: SS with Reinforced Polyamide Cover

N293 AEEERMI% §i sk
N293 SS SIDE MOUNTING TOP BRACKET

111

7200

1
1
1
1
1
1
1
|
ODF |
1
|
[92] 1
U 1
i I
= -
@9x3 ! L
Q| | D || :
= v Y | 0 ~ v
Z 1 N
® | 0
— o !
3 B |
w (0 ! @
Y any =4 P 0
(:% \ [ A @ 9
= 0 . S}
— o |
w B |
| 0
1 N
o D [ o m )]
\V I A\
IS (Cj ! D 2

&S @DF B
Code (mm) Weight (kg)
N293-48.3 48.3 0.63
MR TEN

Material: Stainless Steel

D42 www.net-conveyor.com



NET
& =& Connecting Joints

N246A BXE =18
N246A CONNECTING JOINT

N246B B =&
N246B CONNECTING JOINT

MR ERERRAFENERLA
Material: Reinforced Polyamide with Stainless Steel Set Screws

MR RN AFEMBLA
Material: Reinforced Polyamide with Stainless Steel Set Screws

I
I
1
I
1
! i 4
70 74 H -
, | ‘
1
"""" 3 1
ﬁ © 1
® I
NIV , I
8 | =
2 17N 17N ! g
N2 N2 ! | 1
! | |
o 1 i i
< , i |
! 1 | 3
! [S— -l
232 57 | — -
' | B/S ODF B
! Code (mm) Weight (kg)
I
&S @DF =8 I
Code (mm) Weight (kg) : N246B-48.3 48.3 0.37
1
I
N246A-48.3 483 0.29 H N246B-50.9 e 037
1
I
1
1
I
1

Material: Reinforced Polyamide with Stainless Steel Set Screws N
MR HERERRAFNERLA

Material: Reinforced Polyamide with Stainless Steel Set Screws

1
N247 BAZHE L N250BA=IE =N
N247 CONNECTING JOINT | N250 CONNECTING JOINT =
1
© : -
8 , -
1 o
3 4 T
{ g 0 I
— 3¢} I M8
: 80.3
5 | _o02
2 ! |
N | 1 g;T
42.4 I
55 ! 4ANE
87 : _ S
! M8
RS @DF s :
Code (mm) Weight (kg) | HS @DF @D2 S
I Code (mm) (mm) Weight (kg)
N247-48.3 483 0.39 :
I N250-48.3 483 4247483 0.32
1
N247-50.9 50.9 0.39 | N250-50.9 50.9 42.4/50.9/60.3 0.40
1
M. HBEREATRIELE X N250-60.3 60.3 42.4/50.9/60.3 0.40
1
1
1

%)
=
<
]
o
O]
Zz
l_
()
|
Zz
z
O
(&)

www.net-conveyor.com D43



Q
©)
Z
z
m
0O
d
z
®
[
e
z
_|
n

NEENECE =18 / S #¥%8 SS Connecting Joints / Frame Supports

NET

N263 RNFNELE =18
N263 SS CONNECTING JOINT

N264 RNFNBEE =18
N264 SS CONNECTING JOINT

N294 BN £52
N294 SS FRAME SUPPORT

N295 RNEENT1E5
N295 SS FRAME SUPPORT

www.net-conveyor.com

H/S @DF1 @DF2 BB
Code (mm) (mm) Weight (kg)
N263 48.3 48.3 0.28
MR TEN
Material: Stainless Steel
RS @DF1 @DF2 EE
Code (mm) (mm) Weight (kg)
N264 60.3 60.3 0.54
MR RER
Material: Stainless Steel
RS @DF S
Code (mm) Weight (kg)
N294 48.3 0.26
MR REW
Material: Stainless Steel
/S 8
Code Weight (kg)
N295 0.06

@
8 &
- Q
& Y
72.5 35
130
oS
q)cb
& &
o o
- a
- Q
& o @
925 R
150
QDp
gl 8
o — ¥
70
95
12 3
O g
50
M5x16 25.5
M5x16 Y
N\ J
38

M. THER

Material: Stainless Steel




+=F#3 /HIEL Cross Joints / Frame Supports

N248 L t+FHk s
N248 SQUARE BORE CROSS JOINT = @ @
g
5
60
= IDF1 @DF2 =8
Code (mm) (mm) Weight (kg)
N248-40x16 40 16 0.21
N248-40x20 40 20 0.21

MR ERERRAFNERLEA

Material: Reinforced Polyamide with Stainless Steel Set Screws

N251 #5258

N251 FRAME SUPPORT

140

55 30
65 98
RS @DF E3=S
Code (mm) Weight (kg)
N251-48.3 48.3 0.40
N251-50.9 50.9 0.40
N251-60.3 60.3 0.40
MR ERERRAFENBLE
Material: Reinforced Polyamide with Stainless Steel Set Screws
N253 S22
N253 FRAME SUPPORT 25 M8
w
3R g
A
74
80
RS @DF 8
Code (mm) Weight (kg)
N253-48.3 48.3 0.25
N253-50.9 50.9 0.25

MR ERERRAFENRLE

Material: Reinforced Polyamide with Stainless Steel Set Screws

N249 EFL+FEk

N249 ROUND BORE CROSS JOINT

5

@

DF2

52

N d
SN

DF1

e
6
= @DF1 @DF2 8
Code (mm) (mm) Weight (kg)
N249-38.1x16 38.1 16 0.22
N249-38.1x20 38.1 20 0.22

MR ERERRAFNERLA

Material: Reinforced Polyamide with Stainless Steel Set Screws

N252 71238 ~8 100
N252 FRAME SUPPORT o B, 75
&g F
alelsl T
F i\u
Sy
N
65 L
85 10 90
RS @DF B8
Code (mm) Weight (kg)
N252-48.3 48.3 0.38
N252-50.9 50.9 0.38
N252-60.3 60.3 0.38

MR EREARAFNRLA

Material: Reinforced Polyamide with Stainless Steel Set Screws

www.net-conveyor.com

)
'_
o
O
a
o
>
%)
w
=
<
o
'8
%)
'_
<
o
9
(%)
%)
o
14
O



NET
+f& Clamps

N267 WiEF5E
N267 DOUBLE PIN SANITARY HINGE CLAMP
ws &1% Tube Size A
el (fetio) (inch) (mm)
N267 - 150 181-112 2122 53.9
N267 - 200 2 2.654 67.4
N267 - 250 2-1)2 3.185 80.9
N267 - 300 3 3717 94.4
N267 - 400 4 4.820 122.4
N267 - 600 6 6.695 170.4
N267 - 800 8 8.695 221.2
N268 EEIKHE
N268 HEAVY DUTY CLAMP
RS &1% Tube Size A
Gl (inch) (inch) (mm)
N268 - 075 1/2 & 3/4 1.062 28.0
N268 - 150 18&1-12 2122 53.9
N268 - 200 2 2.654 67.4
N268 - 250 2-172 3.185 80.9
N268 - 300 3 3717 94.4
N268 - 400 4 4.820 122.4
N268 - 600 6 6.695 170.4
N268 - 800 8 8.695 221.2
N269 5IE+E
N269 HIGH PRESSURE CLAMP
=] 12 Tube Size A
Code (inch) (inch) (mm)
™ N269 - 075 112 & 34 1.062 28.0
/—\ N269 - 150 18&1-12 2.046 52.0
—F T — N269 - 200 2 2578 65.5

v N269 - 250 2-1/2 3.110 79.0

N269 - 300 3 3.640 92.5
N269 - 400 4 4.744 120.5
N269 - 600 6 6.632 168.0

(@)
2
>
<
3
w

N270A &
N270A CLAMP

NET® IR EESMHHRAM R, BREMR
ATERE, BUERE SR ERIIFAER.

{ e
P
ot

NET ® supplies a diverse selection of clamps

made from various materials. Contact us for

more information.

D46 www.net-conveyor.com



iLF ¥ Connecting Joints

NET

N271 3L FHE3k

N271 CONNECTING JOINT

N271A LK 4E

N271A CONNECTING JOINT QD
| &
o /1
I s
N )
2127 30 30
RS @DF HE
Code (mm) Weight (kg)
N271A 12/14 /16 0.120

MR EREL. NARENRNERIFEN

Material: Reinforced Polyamide, Hexagonal Insert in Nickel Plated Brass or Stainless Steel

N272A sTFH3k4E

N272A CONNECTING JOINT

&
&
p
4 w
o <
™
30
RS @DF 8
Code (mm) Weight (kg)
N272A 12/14 /16 0.125

MR EREL. AARENRHERIREN

Material: Reinforced Polyamide, Hexagonal Insert in Nickel Plated Brass or Stainless Steel

105
&
—: a8
""""" s
,,,,,,,,,, N )
212
30 30
RS @DF R
Code (mm) Weight (kg)
N271 12/14 /16 0.040
MR EEER
Material: Reinforced Polyamide
N272 sTFHk
N272 CONNECTING JOINT 105 .
@DF &
i s
L 4 v
o <
@
262 / 50 30
70
RS @DF EE
Code (mm) Weight (kg)
N272 12/14 /16 0.045
MR ERER
Material: Reinforced Polyamide
N273 STF#ESk
N273 CONNECTING JOINT L &
o
1] Ve
Y
gl | 8 ©
: RI
6.2 / 50 30
70
RS @DF E3
Code (mm) Weight (kg)
N273 12/14 /116 0.063
M. BERER
Material: Reinforced Polyamide
N274 31543
N274 CONNECTING JOINT & 10.5 ODF
©
5 S
© L
o ~
© — T
Rk
50 28 30
75
RS @DF 8
Code (mm) Weight (kg)
N274 12/14 /116 0.068

MR ERER

Material: Reinforced Polyamide

N273A SLF#3K4E
N273A CONNECTING JOINT «
@DF QQ
P
v
3 3 R
s
/50
6.2 30
6.2/ 70
&S @DF 6 4
Code (mm) Weight (kg)
N273A 12/14 /16 0.143

MR BRERL. NAREARERITEN

Material: Reinforced Polyamide, Hexagonal Insert in Nickel Plated Brass or Stainless Steel

N274A 35348

N274A CONNECTING JOINT

@DF /7

-
A
© L
~
T OI
39 B
50 28 30
75
&S @DF 8
Code (mm) Weight (kg)
N274A 12/14 /16 0.148

MR BRER. NARGHRERITHEN
Material: Reinforced Polyamide, Hexagonal Insert in Nickel Plated Brass or Stainless Steel

n
'_
<
o
9
o
Z
—
(&)
|
z
z
O
O

www.net-conveyor.com



NET
ft {4 Components

N275 HERRIZ Fl it #T
N275 CROSS JOINT WITH SQUARE APERTURE
RS ke 58
Code Type Weight (kg)
BrLE
N275A With Hole (No Insert) 0.066
N2758 With Hole and Metal Insert 0.066
T8
RI275C Without Hole 067
MR R R A HIMIB LA

Material: Reinforced Polyamide with Stainless Steel Set Screws

N276 HHBIERIER 47
N276 INSTALL PATCH FOR PHOTOELECTRIC EYES
A 9
., BE\ <&
0 - e 2
5 ® g R5 \ ALt &
I ] 6K
A 138
L= 29
AA
116
. BE me 58
S Code Color Weight (kg)
®%P‘ N276 26 Black 0.090
MR 1BRER
& rJ Material: Reinforced Polyamide
15 o
30
N277 B EREE
N277 BASE FOR PHOTOELECTRIC EYES
215.8
= @S #ie E
e Code Color Weight (kg)
) Nk 8
2 8 T N = N277 2 Black 0.021
3 - RN ! MR WRER
=z . . Material: Reinforced Polyamide
m 100.5
Z
_|
(02}

Y2+F FEED SCREW E% STAR WHEEL

Mk PICK-UP HEAD
(Made to Order) (Made to Order)

D48 www.net-conveyor.com



R
B3

it IHRERATREXE2188SMAARTUE2SE
Add: Building No.2, Xinzha Hi-tech Industrial Park

No.2188, Longcheng Ave., Changzhou, Jiangsu,
China 213012

M{%. (Tel) +86-519-88166775, 86617695

E-Mail: sales@nat-conveyor.com
Web: www.net-conveyor.com

THEEARMRELR

Okl il § Dt 0 S i 0 L0




	封面 1
	NETconveyor components – brackets, joints, mounting supports
	封底1

